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Example 1 Manny has a bottle of 5% acetic acid and a bottie fof 10% acetic atid. How much l((
should he use to make 250mL of 8% acetic acid? + — et

Solution: @ @ @ = @ K@

Solution Amount (ml) Concentration (%) | Amount of Solute (ml)
Solution 1 A wmlL 5, O.o5A
Solution 2 N mb 10 %% o.lY
New Solution 250 ml Q < 20 —2 250x0.0§ = 20

V> A+y = 250 B
AS— 0,051 + 0.1y =20 (B

> Si-l- |10 (250—76> = 2000
EXL + 2500 —{of = 2000
5% = ~ 500
‘o XX=100 and {5omL of
-——v@ s Y =150 L% o 0Q.
intotal & Some P them wert Tavtsted Th Soving s acek which

& Many sl_npulcl use,

Reasfunge : ® y=250—x - (©
- 100 mb ob 57 ac

| 'SMB"@ o _@5

®x o0 2 530+ [0y = 2000
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Example 2 Pierre invested SBODD\,,ﬂ;a:'J;ch: 9% interest rate, and the remainder at 10% o
interest rate. After one year his total interest from these two investments was $740. How much (,«(
did he invest at each rate? X Y % goo0 L
w] + [oA] =
Solution:
Amount (5) Interest Rate (%) Interest ($)
Investment 1 _ €A q %o 0,.09HA
investment 2 ) Y jc; e . 1v
Total 9 gooo ' ' % 140

@ A+y = Boro
® o0.094 +o.ly = T40
®xoo s qx + \%Y = 74000 -—»@
B9 92 + dy ‘-"-“12090-——)@
‘ O+ @ ly= 2000
Y = 2000
Sub Y =z2000 inte (A)
B 4+ 200 = gooo

2, A =fooo

S Prerce Tavested 4 booo

into 9% savings actounst

Gnd $2000 Mto (0%

Savings o ccount,
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Exampie 3 Jackie has a bottle of 35% salt solution and a bottle of 45% salt solution. How

much of each solution should she use to make 500mLl of 43% aestic-aeid?
‘ ‘ Salt solutoan

Solutien  Amonnt | Concentration Amonnt of  Solwbim
Solutiw | A 25 % 0.35X
Solutrws 2 Y 45 % O. 459
New solutim 500 m L 43 7% 0.4% (500) = 215

V) 2ty =50 @ > 1=50-y @
0354 + 0.4y = 25 @ o
Bx 10y 353 + 459 = 21500 —> @ A + 4op = 500
Rx 35 35% + 35y = 17500 —>(p] 5 2L =100
‘@ o + by = 4oeo0 So She showld use f{ooml
o

'_‘___-__ A
lo o 35 % salt solutvon and

Y = 400 400 mL oF 45 sult oolntm
P Example 4 Seth and Amanda mixes chocolates costing $4.50/kg with almonds costing ’
( $6.50/kg to form a mixture which costs $36.50 for a 7 kg box. How many kg of chocolates
) should Seth and Amanda use for one box? How many kg of almonds should they use?
Solution: @ ® ﬁ@ = )(@
| [ Amonnt Ckgy [ & ko \Total Cost = Ahant X B/k,
Chocolate X t 4 50 4 5o
Al monis Y 6.50 6.5Y
Box 1 5.2} 26.50
& 4. 50/, %6.50/ky ‘357‘"‘/&;}-:_ 3p 507 , 36 5—45 &
‘Choco ] + ]Almmls’ — A =20 |
_ 365 -48.5
Ak & ky kg A= f
L+y="T (k) w2
2XA=45

@ 454 + 6‘5\/ = 3L 50  (Cost)
Rearrnnge, (®) Y= T-o — A).

- ®45t 65 (7-+4) = 36,50 ,,

e N= 2.5 Sy =
K\“{\ j 4‘57( + 45.% '—'6‘57( — 36\ 50 < / /
- <. We need l:cd o Chocolpte

H k: Worksh 'ﬂeﬁ(‘t 2 pages
@ orksheet ( Pag ) > 0ung b of Almonds,

sub A= Mt (B
'+\':7 - y37




1. For the following problems, define your variables and state the twao initial equation

Day 2: Mixture Problems

5.

need to solve the problem.

Peggy invested $1000, part at 8% per year and the remainder at 9% peryear. After
on year her total interest from these investments was $84. How much did she invest
at each rate?

How many kilograms of 30% salt solution by mass and 40% salt solution by mass
should be mixed to form 200 kg of 37% salt solution by mass?

Jelly beans and mints, worth $2.10/l_(_g and 52.70/kg respectively, were
mixed to make 500 kg of mixture which sold for $2.52/kg. How many
kilograms of mints were used?

2. Solve the following problems. Remember to define your variables and give a concluding
statement.

The student council invested $6000, part at 7.5% per year and the remainder at 8.5% ( (o
per year. The total interest, after one year, from these investments was 5480. How -
much was invested at each rate?

A lab technician wants to make 500 kg of 28% alcohol solution by mixing 40%4
alcohal solution and 20% alcohol solution. How many kilograms of each type should
be used?

Coffee that sells for $7.20/kg is mixed with coffee that sells for 54.80/kg to make
1200 kg of coffee that will sell for $5.60/kg. How many kilograms of each type of
coifee were used?

A hardware stare manager mixes nails that se!ll for $3.30/kg and nails that sell for
$3.60/kg to get 100 kg of nails that he putsin 1 kg bags. He sells each bag for 53.42,
How many kilograms of each type of nail does he use?

A gas station attendant wishes to make 100L of 48% ethylene glycol solution by
mixing some 40% solution with some 60% solution of ethylene glycerol. How much
of each solution should the attendant use?




| .Answers:
s 1 a. x= amount at 8% b
. 'y=amount at 9%
x+y=1000
0.08x + 0.09y = 84

men o

60 L at 48%, 40 L at 40%

. x=# of kg of 30% sol

y=# of kg of 40% sol
x+y =200
0.30x -+ 0. 40y = 0. 37(200)

$3000 at 7.5%, $3000 at 8.5%

200kg at 40%, 300kg at 20%

400kg at 57.20/kg, 800ke at $4.80/kg
60 kg at $3.30/kg, 40kg at $3.60/kg

c. x=# of kg jelly beans
y=# of kg mints
x+y=>500 :
2.10x + 2.70y = 2.52(500)




